## Republic of the Philippines DEPARTMENT OF SOCIAL WELFARE AND EVELOPMENT Batasan Pambansa Complex, Constitution Hills, Quezon City

## IDCB NARRATIVE ACCOMPLISHMENT REPORT FIELD OFFICE I 1ST QUARTER CY 2015

## I. Summary of Accomplishments

																		Num	ber of	Traine	es																
Name of Training	Date	Venue			DS	WD											Inte	rmedia	ries									Stakeholders							Total		
v					·^	Ι	cs	Ι,	10		LG	iU		N	IGA			N	GO			P	0			Vo	ol		-	AC .	R	el	В	S	M	ed	
			FO					CIS		Plan Actual			Plan Ad		Actual	-		Actual		Pla	an	Actual		Pla	an		ctual										
			М	F	М	F	М	F	М	F	M F	М	F	М	F	М	F	М	F	М	F	М	F	М	F	М	F	М	F	М	F	М	F	М	F		
ISO Awareness And Capability     Building	Jan. 21-23, 2015	Oasis Country Resort, SFLU	3	21																																24	
2. ISO Deepening: Identification of Quality Management Gaps and QMS Planning	Jan 19-20, 2015	DSWD FO I	3	31																																34	
3. Writeshop on the Crafting of	Jan. 28-30, 2015	Hotal Veniz, Baguio City																																		29	
Manual for Communtiy Procurement for SFP			5	13	3						2 9	-																-									
4. Child Protection Advocates Training	Jan. 17-18, 2015	Sugpon, Ilocos Sur	1	6	6						2	2														14	25	5								50	
5. Training of Implementers on Gender Resposive Case Mgt Bacth 1	Jan. 19-23, 2015	Paradiso Beach Resort, Aringay La Union	2	. 12	2							11																								25	
6. Training of Implementers on Gender Resposive Case Mgt Batch 2	Jan 26-30, 2015	Hotal Ariana, Bauang, LU		10	)						2	26																								36	
7. Database Management Rollout - Alilem, IS	17-Jan-15	Municipality of Alilem, IS	11	4	1																															15	
	29-Jan-15	Mun. of Bagulin, LU	6	6	3						1	3																								16	
9. Database Worshop-Burgos,IS	28-Jan-15	Mun. of Burgos, IS	5	6	6				l																			1								11	
10. Database Rollout -Burgos,PA	27-Jan-17	Mun. of Burgos, Pa	3	6	6				l		2	4																1								15	
11. Database System Orientation - Nagbukel, IS	15-Jan-15	Mun. of Nagbukel, IS	5	5 4	1						2	4	İ																							15	
12. Database System Orientation - Pugo, LU	30-Jan-15	Mun. of Pugo, LU	5	5 9	9							1																								15	

																		Nun	nber of	Trainee	5															
Name of Training	Date	Venue			DS	WD			Intermediaries														Stakeholders							Total						
			F	0	cs		cis			LGU		NGA Plan Actual			NGO		PO				Vol			А	C	Re	el	В	S	Ме	ed					
			M F		M F		М		Plan M F					ual F	Plan M F	Actual F		Plan M F		Actual F		Pla M			ual F	М	F	М	F	М	F	М	F			
13. Database Coaching - San			IVI	F	IVI	r	IVI	Г	IVI	Г	IVI	F	М	Г	М	Г	IVI F	IVI	Г	IVI	Г	IVI	Г	IVI	Г	IVI	Г	IVI	Г	IVI	Г	IVI	-	IVI		
	Jan. 27, 2015	Mun. of San Gabriel, LU	6	12																																18
14. Database Rollout - Sugpon, IS	19-Jan-15	Mun. of Sugpon, IS	5	7								3																								15
		Mun. Sigay, IS	5	5							4	3									T														$\dashv$	17
16. Database Rollout, Santol,LU		Mun. of Santol LU	4	7							2	2																								15
	Feb. 26-27, 2015	Hotal Veniz, Baguio City	4	17			1	3	3			2				2												1								30
	Feb. 10-11,	Mat Square Hotel Bar & Restaurant, Urdaneta City, Pa		2							6	15																								23
	Feb. 25-27, 2105	Sugpon, Ilocos Sur		2								2														30	1									35
20.Training of Area Coordinator for	March 23-27.																																			
the Effective Conduct of the 2nd Round Household Assessment	2015	Kultura Resort, Pugo, LU	19	18																															$\exists$	37
GRAND TOTAL			92	198	1		1	3	3		21	87				2		1								44	26	1							$\neg$	475
					İ																T														一	
B. Challenges and Issues encou	ntered by Field	d Office in the conduct of	Activity	1.													ı	•																		

	Issues	Challenges	Action Taken	
				There are no issues encountered during the preparations,
Pre-Training				actual conduct and after the conduct of training.
During Training				
Post Training				

			_		_						
Name of Training	P	oor		Fair	s	atisfactory	Very	Satisfactory	E	xcellent	Remarks
											Remarks
											1
ISO Awareness And Capability Building	М	F	M	F	M	F	М	F 23 (95.84%)	M 1 (4.16%)	F	
11. ISO Awareness And Capability Building								23 (95.84%)	1 (4.10%)		
							3 (8.82%)	31 (91.18%)			
2. ISO Deepening: Identification of Quality		1						(* (* )			
Management Gaps and QMS Planning											
J. J. J. J. J. J. J. J. J. J. J. J. J. J											
2 Weiterhaus on the Orofficer of Manual for					1 (3.45%)	3 (10.34%)	6 (20.69%)	19 (65.52%)			
Writeshop on the Crafting of Manual for     Communtiy Procurement for SFP					1 (3.4370)	3 (10.0470)	0 (20.0370)	13 (03.3270)			
							12 (24%)	23 (46%)	5 (10%)	10 (20%)	
4. Child Protection Advocates Training											
						5 (20%)		20 (80%)			
Training of Implementers on Gender Resposive  Case MgtBacth 1											
		1				10 (27.78%)		26 (72.22%)			
6. Training of Implementers on Gender Resposive		<u> </u>				4		_			
Case MgtBatch 2											
<u> </u>											
7. Database Management Rollout - Alilem, IS					9 (60%)	1 (6.67%)	1 (6.67%)	4 (26.67%)			
Database Management Rollout - Alliem, is     Database Rollout- Bagulin LU		+	+		2 (12.5%)	7(43.75%)	4 (25%)	1 (6.25%)	1 (6.25%)	1 (6.25%)	
Database Worshop-Burgos,IS		1	1 (9.1%)		3 (27.26%)	6 (54.54%)	1 (9.1%)	1 (0.2070)	1 (0.2070)	1 (0.2070)	
10. Database Rollout -Burgos,PA			(/		4 (26.67%)	8 (53.33%)	1 (6.67%)	2 (13.33%)			
		1 (6.67%)	1 (6.67%)	1 (6.67%)	3 (20%)	4 (26.67%)	3 (20%)	2 (13.33%)			
11. Database System Orientation - Nagbukel, IS											
12. Database System Orientation - Pugo, LU					2 (13.33%)	7 (46.67%)	3 (20%)	3 (20%)			

Name of Training	Po	oor	Fa	air		Satisfactory	Very Sa	atisfactory	Ех	cellent	Remarks	
	M	F	М	F	M	F	M	F	M	F		
13. Database Coaching - San Gabiel, LU					5 (27.78%)	9 (50%)	1 (5.55%)	3 (16.67%)				
14. Database Rollout - Sugpon, IS				1 (6.67%)	2 (13.33%)	7 (46.67%)	3 (20%)	2 (13.33%)				
15. Database Rollout- Sigay,IS					7 (41.18%)	4 (23.53%)	1 (5.88%)	1 (5.88%)	1 (5.88%)	3 (17.65%)		
16. Database Rollout, Santol,LU					5 (33.33%)	4 (26.67%)	1 (6.67%)	4 (26.67%)		1 (6.67%)		
17. Orientation Workshop on Documenting Good Practices						2 (6.67%)	4 (13.33%)	23 (76.67%)		1 (3.33)%		
							6 (26.09%)	17 (73.91%)				
18. Training of Implementers of Implementers on Sheltered Workshop for Older Persons & PWDs												
19. Empowerment & Reaffirmation of Paternal Abilities Training of Trainers							23 (65.71%)	5 (14.29%)	7 (20%)			
							9 (24.32%)	10(27.03%)	10(27.03%)	8 (21.62%)		
20.Training of Area Coordinator for the Effective Conduct of the 2nd Round Household Assessment												

Prepared by: MARITES C. YSIP Reviewed by: HELEN O. NERONA Approved by: MARCELO NICOMEDES J. CASTILLO
Training Specialist II OIC-CHIEF-IDD REGIONAL DIRECTOR